SLITY - N PaAIRSqO

PLLITY " MIN 8012109y ],
061112dd S ON 10T
10010d¥ 1 "ON 18D
uewnH(y¢-1)(H.Ld)ouowIoH proiAyjereq : owrepN odureg
HOPIN%0S/OTHY%0S: Juod'g 70 : ownjoA uonoafuy
Ui/ [0 MOLI'L 00¢: dway, yo01g NV 95:65:60 1 POSSe001d ],
umy/ g Mof sen Sulkiq 0ST: dwo], 70D 61/27/70 : PIssa001d Ke-IUoN
ANIS P+ selq doejIou] U/ ¢ [ MO[] sen SurziingoN A1en) s 198
LOOOTOTTD - Juowdmbyg ISH: AR | uoneuLiojuy a[dwes
z/w
0061 0081  0O0LT 0091 00ST OOvI 00¢El 00CI  OOIT  000L 006 008 00L 009 00§ 00¥ 00¢
L1 1 1 % 1 11 1 % - 1 1 % Il il Ak 1 % Il 1 1 1 % Il L L | k_;, 1 1 | % L 1 1 1 % ,J Il | . % f ,:.,:, 1 % i 1 kfk _1, A,k::?:l ; i,:,: | :;_: 1 .1 Ak *jdﬁ il 1 1 % L | 1 1 % 1 1 1 1 % 1 1 f 1 m
=01
CELET 2
—0C
+e[HE+IN] 3
= 0¢
+L[HL+IN] 3
+y[Hy+IN] U
: 768 3
€0€01 05
=09
0L
+9[H9+] E
: —08
€189 g
+S[HS+IN] g
=06
SHT8 3
001
Kysudup
OISO

wnnoadg ssen



